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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nine and half (9
1

2
) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS (9
1

2
) vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Describe the history of classification of Angiosperms. 

vko`rchft;ksa ds oxhZdj.k ds bfrgkl dk o.kZu dhft,A 

2. Describe the classification proposed by Engler and 

Prantdl. 

,aXyj ,oa izk.Vy ds oxhZdj.k dk o.kZu dhft,A 

3. Describe the development of female gametophyte. 

eknk ;qXedksn~fHkn ds fodkl dk o.kZu dhft,A 

4. What is double fertilization ? Describe its details. 

f}fu”kspu D;k gS \ bldk fooj.k nhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Describe the family Malvaceae. 

ekyoslh dqy dk o.kZu dhft,A 
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2. Describe the family Apiaceae. 

,ih,lh dqy dk o.kZu dhft,A 

3. Discuss the family Solanaceae. 

lksysuslh dqy dh ppkZ dhft,A 

4. Explain the family Rubiaceae. 

:ch,lh dqy dh O;k[;k dhft,A 

5. Describe the structure and function of Endosperm. 

Hkzw.kiks”k dh lajpuk ,oa dk;Z dk o.kZu dhft,A 

6. Describe the factors responsible for Pollen 

germination. 

ijkx vadqj.k gsrq fofHké dkjdksa dk o.kZu dhft,A 

7. What is Pollination ? 

ijkx.k D;k gS \ 

8. Write a short note on Polyembryony. 

cgqHkzw.krk ij ,d laf{kIr fVIi.kh fyf[k,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half  1

2
 mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk  1

2
vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

1. Which one of the following proposed natural system of 

classification ? 

(a) Bentham and Hooker 

(b) Hutchinson 

(c) Takhtajan 

(d) Thorne 

fuEufyf[kr esa ls fdlus izkd`frd oxhZdj.k izfrikfnr 

fd;k \ 

¼v½ csUFke ,.M gqdj 

¼c½ gfpUlu 

¼l½ rk[rktku 

¼n½ FkksusZ 

2. CNH is situated at : 

(a) Howrah 

(b) Delhi 

(c) Patna 

(d) Mumbai 

lh- ,u- ,p- fLFkr gS % 

¼v½ gkoM+k 
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¼c½ fnYyh 

¼l½ iVuk 

¼n½ eqEcbZ 

3. Capitulam inflorescence occurs in the family : 

(a) Asteraceae 

(b) Poaceae  

(c) Verbenaceae 

(d) Violaceae 

dSihVqye iq”iØe fdl dqy esa ik;k tkrk gS \ 

¼v½ ,LVjslh 

¼c½ iks,lh 

¼l½ ochZuslh 

¼n½ ok;ksyslh 

4. Caryopsis fruit occurs in the family : 

(a) Magnoliaceae 

(b) Poaceae 

(c) Malvaceae 

(d) Ranunculaceae 

dSjhvksifll Qy fdl dqy esa ik;k tkrk gS \ 

¼v½ eSXuksfy,lh 

¼c½ iks,lh 

¼l½ ekyoslh  

¼n½ jsuudqyslh 
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5. Who coined the term „Taxonomy‟ ? 

(a) de Candolle 

(b) Thorne 

(c) Prantdl 

(d) Bessey 

^VsDlksukWeh* ‘kCn fdlus btkn fd;k \ 

¼v½ Mh dsuMksys 

¼c½ FkksusZ 

¼l½ izk.Vy 

¼n½ cslh 

6. How many families were recognised by Bentham and 

Hooker ? 

(a) 58 

(b) 102 

(c) 202 

(d) 402 

cSUFke ,oa gqdj us fdrus dqy izfrikfnr fd;s \ 

¼v½ 58 

¼c½ 102 

¼l½ 202 

¼n½ 402 
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7. Formation of fruit fertilization is called : 

(a) Parthenocarpy 

(b) Fertilization 

(c) Apogamy 

(d) Apospory 

cxSj fu”kspu ds Qy cuus dh izfØ;k dks dgrs gSa % 

¼v½ ikjfFkuksdkihZ 

¼c½ fu”kspu 

¼l½ ,iksxseh 

¼n½ ,iksLiksjh 

8. Ubisch bodies are associated with development of : 

(a) Embryo 

(b) Embryo sac 

(c) Ovule 

(d) Pollengrain 

;wfcl jpuk fdlds fodkl ls lEcfU/kr gS \ 

¼v½ Hkzw.k 

¼c½ Hkzw.kiks”k 

¼l½ chtk.M 

¼n½ ijkxd.k 

9. Production of flower which never open is  

called : 

(a) Cleistogamous 

(b) Isogamous 

(c) Perigamous 

(d) Nanogamous 
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iq”Ik dk cuuk tks dHkh [kqyrk ughsa gS] dgykrk gS % 

¼v½ DyhlVksxsel 

¼c½ vkblksxsel 

¼l½ isjhxsel 

¼n½ uSuksxsel 

10. Who compiled „Flora of British India‟ ? 

(a) J. D. Hooker 

(b) Theophrastus 

(c) Bessey 

(d) Smith 

^¶yksjk vkWQ fczfV’k bf.M;k* fdlus izfrikfnr dh \ 

¼v½ ts- Mh- gqdj 

¼c½ fFk;ksÝsLVl 

¼l½ cslh 

¼n½ fLeFk 
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